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The following figure shows the wet lay-up shear data including the latest results from G6. A fit was made to the minimum of the data, and then a peak equivalent to that fit based on the 1.08 peak to average applied to the zero compression value. This result is shown superimposed, along with the prior assumption. The equation for the peak fit is…

For compression <= 3000 psi….

Shear Stress = 1.08*2300+0.625*Compression

For compression > 3000 psi….


Shear Stress = 1.08*2300+0.625*3000

…where shear and compression are in psi. 

Also shown are the equations 2500+0.3*Compression and 3500+0.3*Compression. The former falls below all of the test data. The latter exceeds much of the test data. 
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